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DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Name of the of the Department of the Economics and | 075
Test: Statistics (Without Books)

e N —

Maximum Time: 2.30 Hour Maximum Marks: 100

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qaren@ml suens e gmen
Read the following instructions carefully before beginning to answer the
questions.
afleinssEnsHE allemL weallsss QFGN_RGD (LPETY SD&SHENL MM ey mI&Hmas
SHEUTIONSL Ul HEHaLD.
1. This computer based Test contains 100 number of questions in objective

Type.

Anas samefl aufld Cajourarg. 100 QaMaGM ameuNleoTs allaTTdhasHamens

Q& mevorL &

2. Answer all questions. Each question carries one mark
SMBIHG NNTEHSHER&HGD eNsmLwaldaeyd ceuleur@y eflemmayh p@m
LGOI 2 smL Wig)

3 1In case of doubt, English version is the Final.
aNenésmefiey  #HCHHLD Hrupuar gmdle algealsdd QsTGESUUL Beten
e &G @mISILmsng).

4. Words of masculine gender in these questions shali, where the context so
require, be taken to include feminine gender.
Qnge alammeaseaficy @i Qummuenen gyee LTESEIH Gl eUTTHMS SHeaMed
CaHemeulig s,  &LHGGCHMU  Quenm  LTeNswHGHeuflslt  CUMIHMSHESHEHLD
SILRIGLWD.

5. Before answering the questions in CBT, candidates should read the following
instructions displayed in the monitor:

efemauiugmIsen saflesll oulfld CaielimE oo weldsd Q&ML MG
(et sefeflullslr  Henguilsb  Cgremid  siffieysmsemen  SeueTLONSL
Llg H& & LD

a) One question will be displayed on the screen at a time.
@Gy CrrsdleL sp(p aleorm G sHamealld Henguilch CHmesImyLD,

b) Time available for you to compiete the examination will be displayed through
a countdown timer in the top right-hand corner of the screen. It will display



A parameter is computed for
@ Lemuenanal Weaipeusmeubihars saradLiuGidna

(A) Sample MOpuIation

go. ) QYo wsLsTEH
(C) Small number of data (D) Large Number of data
GSMDBS BereyeTer el LIEISET F & ieTaeTer aleunrser

The range of the given set of values
15, 20, 35, 41, 53, 65 1s
15, 20, 35, 41, 53, 65 g dw eransefien elFs

(A) 38 B) 41

w 50 D) 35

Analysis of Variance (ANOVA) was introduced by
wrUTGU uGlumime HPPaELUBSH eeuss < rmissumert

A) W.G. Gosset G Prof. R.A. Fisher
W.G. Canllal_ Cugm. R.A. S9agp

(C) Prof. A. L. Bowley (D) Karl Pearson
Cupm. A. L. Queredl Hieh SwiiTger

The mean of 32 numbers is 120. If each number is multiplied by 2, the new mean

will be
32 arawseflen eynefl 120 erens. eu@eaunm eramaeanrund 2-d Qunsdamed &L &@Lb
eraimasaticir Fymefwmeng)

A) 118 7 240 w

(C) 120 (D) 32
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5. t-distribution is used for
t-ugeud @FHE LwaTURSSILHE DS
Mest the difference between two means
@ran® syneflgefien efgdunssens Canganar Glauiw
(B) test the difference between two variance
Gire® ureupusefier elsHunsseng Cargemen Celiw
(C) test the goodness of fit
Qumpsgislar Gebawn serenawt Garseamar Geiw

(D) test the independence of attributes
ueryseilen ertubn e Cergamer Geliw

6. A normal frequency curve is usually
e Qwe Haved uyeuelel, emableue eumeTeTeg)
(A) U-shaped (B) V-shaped
U-aug auinreng| V-auig eulnreng
(C) Z-shaped U Bell shaped
Z-Guiq euinmeng;) enfl el GLLDTETS)
7. The expectation of the number on a die when thrown is

@ LamLew aiab Gurg erdiuridsluib erer (expectation)

A 7 772

2
© < D) 2

8. If the rate of change between two variables x and y is in the same direction, the
relationship between x and y will have
@ran® wrflsdr x opmb ¥ Hororer orpp 6ldsn @Gy Hengufler @(HEGLTRTTED,
x wHQIb ¥ -&@& Qe uferear Ggriy

positive correlation (B) negative correlation
Cpit el bmey gl RGOy

(C) no correlation D r=0
LG pellerenio r=0

117/DD/23 4



10.

11.

12.

In the technique of drawing a sample, each unit of the population has an equal
chance of being included in the sample is called

@0 ponsdgredie odaer o plysaldmbs widf Qsflley Gsuyn Gurs,
gaibleurm 2 piiyd GsABESHSESLILLL FO QMU LI SF@mer @)eeuny
S| EHLPSHEVITLD

(A) Stratified sampling (B) Cluster sampling
u@iens @enn wirdf Amer sam wpam

(C) Quota sampling Mimple random sampling
@8&&EF wrdlfl grgnyent gweumiriGerer wrdfl

Population census is conducted at regular intervals of time usually
w&seT  Cgnens, sems@shiiy Qurgers ¢ AU L ste e Qeuafudd
BLESSLIUGEDE, D&aTR DjeTey

(A) Every five years Every ten years
eeuleum(h ;mbg eu(hHLBSERES, e m USE eU(HLhEEHES
(C) Every year (D) Every fifteen years
Geu@em(n au(HL (LD geuGeumin LSleeThg (L h&EHEE

Data represent
Yarafl efleurid ereugg

(A) a single value (B) two values
Gy @ Wiy Qe ® wHuyse
(C) alarge value a group of values
Quflw by MQD%W SLiudlu GsmEly

Whenever the size of the population is large, a simple random sample can be
obtained by adopting

wows Qsredllar oaey CQuilugrs GméeEwGurg, swamiuly fsmmp ahHiss
UweTL(R&GID (penD

(A) Lottery method Mndom numbers method
GNEG&F FLH peD TTERTLLD GTERT&HET panm
(C) Census method (D) None of these
&S QgTens samsEEHILIL penn @leupdler ergieyLbldvancy
5 117/DD/23
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13.

14.

15.

16.

17.

The co-efficient of skewness for Poisson distribution g, =
urbsner urasdler Gam & Qaup F =

@) 2 y_.&

€ 1 ® o

BLUE means

BLUE eréirugy

(A) Best Linear Upper Estimate (B) Big Linear Upper Estimate
Apps Crr&ECaT (B G wdiisE Quilu Crr&Gam_ @ Cuoad wdHSE

(C) Best Least Unbiased Estimate Best Linear Unbiased Estimate

fmps Gopeurar Wepwhn wdHSEH fpps CrraGar’_(H Gepupn wHISE

In a symmetrical distribution
sw&Erran Lireuedle

Mean = Median = Mode (B) Mean # Median # Mode

gyrefl = @aflave = wsh syrefl = @enLfleved # s
{C) Mean > Median > Mode (D) Mean < Median < Mode

syrgfl > @en_flevad > qpa&® sgmef < @enflevew < 1ps@H

A and B appears for an interview for two posts. The probability of A’s selection is 1/7
and that of B’s selection is 1/5. What is the probability that only one of them will be
selected?

2 ugdlsensarar @@ Gprwpss Gsieller A whipnd B seopy OQsrariernd. A
Cerpls@uughsrer Hapsse; 1/7 wpmb B-ew CGsiplshuusherer Hlapsse 1/5
%GWw. @Cr gmeur wi G Casibdshsaliuaghana Hapssalamen saEmiHidy.

@ 67 & 2

(C) 4/5 (D) 4/35

Frequency of a variable is always

e wriluller semateuamenreang (Frequency) eriiCGungyp <360 LU LD.
(A) in percentage (B) a fraction

FEeSHLONG e Heneaid

an integer (D) mid value

(T (LP(LP eTeir enlows &Ly

117/DD/23 6



18.

19.

20.

21.

22.

If the co-efficient of Kurtosis is zero, then the frequency curve is
sles Gagy umwb aafld, Aapladr aamaGasr(

(B) Platykurtic

(A)

Leptokurtic
T FL6nL_UITang)

Mesokurtic
Guer glenwireng

(GHONG SL DL UITETE

(D) None of these

@eupmieT ergia|ddaenea

Significance of a simple correlation coefficient can be tested by
eLbhmeys Wapaier lamassaranwaw ahs Cemgeananuder apeons oidluemib.

©

The median of 30, 17, 43, 39, 40, 18 is
30, 17, 43, 39, 40, 18 gy dlweupdlen Gent flenew

A)
©

We prefer to present interval data by

t - test
t - Gargenar

7% - test

X’ - Gengeven

30
39

B)

D)

z - test
z - GCanganen

F - test
F - Gengenen

Qe Qeuafll yerefl daugsens @sean epeb Geaafluu®ss wasduggiend smHaCmmb

(A)

bar chart
Ul el efler&sinl b

histogram
Hlapbleuar Geeuiaisbd

(B)

D)

pie chart
all L eferdsliuL b

pictogram
2 (heutilL eflerdaEuL b

In tossing three coins at a time, the probability of getting at most one head 1s
epam prewrwnsaer @Gy sowgfle sem@nurps, dsulswons @G @@ sow

w G deLvugsherer HEpssa]

S

©

o= oo

(B)

(D)

i ool

117/DD/23
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23. Ifboth the regression coefficients are negative, the coefficient of correlation would be
B eLear Ggriiys Qswasesnd adiveps @ Qsramgmash GUIg U Hned

Qapeureng,

(A) positive Qf negative
CpilanL e flen

(C) zero (D) unity
LpgRuILD 2 OEHETEY

24. A sample consists of
@ gafler o mIiys6dT wra|ib

(A) all units of the population
Wpupenns BsrEdullen simanss 2 DILILSET &b

(B) 50% units of the population
Wppenns LsrEdluler 50% @b

(C) 5% units of the population
Waws bemEsuier 5% @b

y any fraction of the population

wpy@ins dsr@duie em LuGHudar 2 muLser @b

25. The skewness of a normal distribution is
QuoBlarels ureauelen CaTlLarapeuwireng)

Zero (B) positive
LLedwib CrhanL

(C) negative (D) none of these
erdlflamn_ @eupmieT eTgieyldana

26. Out of the two types of errors in testing, the more severe error 1s
apCsrer Gengamaniad 2 drar @ranm® enpseaicr 055 s@ernwrer Yey

M type I error

WPpse auans Yenp
(B) typell error
@re_nd auens Yenip
(C) both (A) and (B) are equally severe
(A) whmibd (B) @ramBid Fowrs sHenowmereey

(D) no error 1s severe
TS 1AenpU|ID &(HEnLoLITETSE®

117/DD/23 8



L)

27.

28.

29.

30.

31.

The probability of type I error is denoted by
pgemd aes epuller flapsasy @l iiu@peis

Ma ®B) z

€ 1-a M 1-5

From a well shuffled pack of cards a card is drawn at random. The probability that

1t 1s a red card is
BeDE  so@&SLULL  gm &L06 slgdmbs @@ SLE svemdly  apeppuldd
aREsLLGEDg. ehEsuUlL 6 ey Hinwrs uuughanar Fspsserang

N ®)
1
3

(D)

S |

(©)

The probability of drawing one spade card from a pack of 52 cards is
52 & [aer Qaram @ sUige[Hhgl @ awCu@ LG adliugharar Hapssal

1 1
@ = ®
4 1
© = -

Kurtosis refers to
S SETenel eTeTLg)

Peakedness (B) Scatteredness

A& semeno Hgmed gemenin
(C) Spread ability (D) Direction

el @) hdseD aflpenp

The variance of Binomial distribution
(BMILL Leuedler LireubLily

JO npg B) np

(C) npq D) o

9 117/DD/23
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32.

33.

34.

36.

36.

Simple random sample can be drawn with the help of
eraflu seumity sam aTRE@D penn SpeumasareunBler o gafuyar Qeruwriu@Gfng

(A) roulette wheel (B) lottery method
TeuGleL aied GHEED e
(C) random number tables y all of these

TTeRTL_LD &T68s (Lpenm Glenal DeneTSFIth

The hypothesis H;: u=u, against H, : g =y, 1s
ahCaner H: u=p, adflyns H, 1 p# u, aerug

(A) One tailed test (B) TypeIerror
@ (penan Gamgeanen P5O cuens Genip
(C) Type Il error M‘wo tailed test
@reRTLmb cuens Genip Qw evar Gengenen

The probability of drawing one white ball from a bag containing 6 red, 8 black,

10 yellow and 1 green ball is

6 Sleulsy, 8 &MLIL, 20 WEHFT WHMID 1 UFnF HHW UbGST 2 arer ¢ LB Hg

e Qeudtenearlinpg erhiliugnarer HlEpssey

@A) 1/25 &0

© 1 D) 24/25

In hypothesis testing, the error may arise due to
ahCaner Cergamanien Curg Yeny ghuBeaugnHaErar sTreilaer

(A) misspecification (B) non-availability of data
seupns GHLIG{HSED Ssaue fen_&Emo @)(HLUg)
(C) wrong assumptions M all of these
SEUDTET <GS @meu XTS5 D

In which distribution, the mean and variance are equal?
eThs Lreualer srmafl wHMID UTDLG QETDTS BHEESLD ?

(A) Binomial distribution (B) Gamma distribution
FF(HMILILY LIT6ued SMOT LIJeued

(C) Normal distribution ﬁr Poisson distribution
Queblency Lreued LITIETET LFeued

117/DD/23 10



37.  The average which is mostly affected by the smallest value is
Sflw wduiyerar yerefl ellurtisaad @ps srref eifsn urdasiuFLD

(A} Arithmetic mean (B) Geometric mean
L Q& sgna QumEGEF sqma
Harmonic mean (D) Mode
@ enss syraf PsH

38. If A and B are independent events then,
A upb By gniupp Bepsflsdr erafla,
(A)  P(AB)- P(4/B)P(A) & P(AB)- P(4)« P(B)
(C) P(AB)- P(B/A)P(B) (D) P(AB)=P(A)+P(B)

39. Student’s t-test was introduced by
eo@Lar t-ureud Gorgenarenu SiflpsLiLGSHwe

{A) Karl Pearson (B) Laplace
gired Auwirge SOITLIGTE

(C) Prof R.A. Fisher milliam S. Gosset
Gugm. R.A. S9agi eflévedlwib S. sr@evr

40. For a positively skewed distribution which of the following inequalities does not

hold?

Crrapenp CamL ugeuale Spssar swaflldluied org sfubhmg 2

(A) Median > Mode &7 Mode > Mean
@enL_fBlener > ps® ws® > syrad

(C) Mean > Median (D) Mean > Mode
sqrgfl > Gan_Hlenew sqngfl > &

41. The classical definition of probability is based on the assumption of
Qgrerenw flspssa) euequenyuilen igiwrangdler g6

f Equally likely (B) Independence
Fweuriiliy BlspsSser iU Hlspsdser
(C) Both (A) and (B) (D) Neither (A) nor (B)
(A) opgo (B) @rear@im (A) opmid (B) @rer®in @dena
11 117/DD/23
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42.  Probability can take values between
Blapsse) wdiGer G Causflurarg

(A) -o and « B) -« and0
- wppD ~e0 ppb 0
(©) -land1l 270 and 1
—1 wpgib 1 0 whmb 1

43.  The range of statistic z? is
wseiss GCongener yatafulllued eareeiuier ais

(A) -lto+1 B) -wto+w
—1 pged +1 —® ApBH + o
0to (D) O0tol
0 qpsev 0 apgev 1
44. DOSis
DOS erenLigy
(A) a type of computer misk operating system
(h euenswime seufllGumd el L gL ( Gswued wpam HLib
(C) acomputer disk (D) all of these
@ senfluGurd L. Plareu emansg b

45. In cluster sampling the units are
Sreranm (pepuiled DMATSF DEGHEEHLD

(A) overlapping (B} non-overlapping
Smbu aumLeme Sl(mbu aurTseney
y homogeneous (D) non-homogeneous
@ Uig WImemene (I LI WIMETEnal <HHeDew

46. Whether a test is one sided or two sided depends on
@ Gemgenar @@ uss Gargenerur degk @@ uss CergameTun aeaTLg @ass

FMMHSG

(A) null hypothesis {BKafternative hypothesis
Bed ergmib erHCaHmer wrom erhGarer

(C) simple hypothesis (D) composite hypothesis
ereflu er(Camer soae r(HCamar

117/DD/23 12



47.

48.

49.

50.

51.

The statistical test used to test the regression coefficient is
2 L @griis Qaupemar Cerganar Gaiiwl vweruRggn yaraludwed Cemgenar

(A) Normality test M t — test
QudBlere Cerganer t — Cergenar
(C)  x* - test (D) F —test
i - Gensenar F - Gsrgenen

In India, the collection of vital statistics started for the first time in
@rdureiler, pgeanpsada Gnuy @nuy adurtismen Cssflss e

A 720 (B) 1886

\V‘ 1969 D) 1947

The temperature of a patient during hospitalization is 100°F is in
pbgialvmanie @wmhs Crrsda e Crmuraler Gautiuflea 100°F adarug

(A) Nominal scale (B) Ordinal scale
LIGRTL] <Sjemey aufiens ieray
Interval scale (D) Ratio scale
@e_deual siamay hlfls oeray

Intelligence of a student is a variable.

@@ wreaeufler sifleys Sper rMwmELD.

(A) Quantitative B Qualitative
GTeuET &TITHS UeRTY M6

(C) Nominal scale (D) Ordinal scale
@enL_Glevafl emey aflens etay

When the researcher uses the data of an agency, then the data is called
Sputeunenit e Hmeuarsdlenr sreilevan LwaLHSHEDTT erafld, SissTaUTETS)

(A) Quantitative data (B) Qualitative data
ereRT siemeilovmen grey UeLieTefleres e
V Secondary data (D) Primary data
S yawrLmb Blenaw Frey s Hlened gray
13 117/DD/23
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52,

53.

54.

53.

Sample size means
wrdfl o miiy (=) g erenLigen Glummanar

(A) Number of units in the population
wyaws Gsngduledrer e mriysafler eamanisms

\M Number of units in the sample

wrgfuldaierer 2 muyseller aramaisans
(C) Sequence of questions
dlemragaflen Ggrreuflens

(D) Ingredients of statistics
Heraflullwgnésnar epe i@ ummer

In which one of the following diagrams, data is transformed into angles:
aThg eflendaEtiLL s sreyser GCamambsemns wWrHnOLHSH D

(A) Pictogram (B) Pareto Diagram
2 (Hou GINGTEHSEILILLD QuiLGLr suenyLILLb
Pie diagram (D) Histogram
el L eflaTé&LIuL b Lreued GaeueusliLiLLb

When all the observations are same, then the relation between A.M., G.M. and H.M.
18
sroysar  masgld  swwrs  @rseoGurg  AM., GM. opmo H.M.
Gaupdlbdlen Cuwmar 2 mey

AM. =GM.=HM. (B) AM.<HM.<G.M.
(C) AM.<GM.<HM. (D) AM.>G.M. >HM.

Histogram is useful to determine graphically the value of
Lujeud GecieusliuLib aalp euayuLsien apab sarsduubeug)

(A) mean (B) median
synef BlaoL_Hlava
mode (D) all the above
L0 Cuopamhu emanggibd

117/DD/23 14



56. Disadvantages of using the range as a measure of dispersion include all of the
following except
Agped sareneuwirar eia ereLg SpssanL qetend Havmey Gelueidbene

(A) It is heavily influenced by extreme values
efefloy wHiysarmd urdéstiu@dpg
(B) It can change drastically from one sample to the next
e® srefladphg wHEDT® sTeilHE BslEuilu wibpsos abubseb
U7 1t is difficult to calculate

saSElL Sl D

(D) Itis determined by only two points in the data set
Cenrgenan arggeanat (pavp GeuamporarTgid Gelwuu@Sng

57.  Which of the following is true?
EPESHT_UDDIGT 6TH 2 mEDLOWINETS) ?

(A) The variance can be calculated for grouped or ungrouped data
LorRUTH QsMESEEUULL Qg GFTGESILLT STsHEEEE SamsdlL oMb
(B) The standard deviation can be calculated fro grouped or ungrouped data
AL dessd QarT@ssiul L. deg AsNESEULILTS STeUsEhsE sanréd Laomibd.
(C) The standard deviation can be calculated for grouped or ungrouped data but
the variance can be calculated only for ungrouped data
S efle&sib QET@EEE UL L DD QEnGEsILLTE ST SETEE Semrshdl eymib.
e ryur® OsTEssuULTS sTelh@ WL G sawsslanb
(A) and (B), but not (C)
(A) opgid (B) #fl, (C) seum

58. Which of the following is a relative measure of dispersion?
EpsaamLcupmeT oTgl @UISLH BieTeneu ?

(A) Standard deviation (B) Variance
UL ele&atd rmumH
Coefficient of variation (D) All of the above
wrm T &S Cupseadlu Sananggb
15 117/DD/23
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59.

60.

61.

62.

63.

Which one of the following is not related to random experiment?
Aemeupeuaneupiley 6Tl eumiitig Cangenands?

JA(‘ Outcomes are predictable in advance

ellenerayasar (enangraGeu Sinrafléssemiyws

(B) Outcomes in unknown, in advance
eflenera| qpeant i CGu Ggflwirg

(C) Experiment repeatable finite number of times
Cergenen Hpbu HHLL Wpgeym
(D) Experiment is repeatable any number of times
Cengenar Spbus Smbu (Wb erearaismauid Qeiuiu®Bdng

If A and B are mutually exclusive events then P{4 U B) is equal to
A vpmb B aauer ghepGuramn easEn fepedsea aaiieo P(A U B) aarug

W~ P(4)+P(B) B) P(a)-P(B)
(C) P(A)+P(B)-P(An B) (D) P(A)P(B)

Probability is expressed as
Bepsse) eag)

(A) ratio (B) percentage
&, ellgwors (M FSEISHLNE

(C) proportion m all the above
efldlgsions CupsmPu senarsgib

A coin 1s tossed 6 times. Find the number of points in the sample space
@@ BreRTwhd 6 (penp el LuhGEDg arafld ammteuaflulier o drar Qurss yeralser

(A) 12 B) 16
(C) 32 Jrm 64

A random variable X has E(x)=2 and Efx?)=8, its variance is

@@ soamiiy orhl X G E(x)=2 ( ) 8 eraflléd igerm wrmuTl L eTane.

w4 ® 6

€ 8 D) 2

117/DD/23 16



64.

65.

66.

67.

The mean of a binomial distribution is 10 and the number of trials is 30 then
probability of failure of an event is

ggnefl 10 gpupélsaien eamerisms 30 2etw mEBOILIY uTadd Gsraslssmer
Babgse,

A) 025 (B) 0.333

P 0.666 D) 0.9

The second order moment about the mean is
sgnsflepw uHBlw Gy _reug cuflens eremmLig

(A) Mean (B) Standard deviation
grmel S L ellevsad
Variance (D) Median
rm U @enLHlanev

The mean and variance of a Bernoulli distribution with usual notations are
aupssworer GHluRsaiarug., gm Quiterarsd ugeuelien syrafl wHmId LIMYLTE

) p+pg vﬂ'f( P.Pq

(C) np,n pq D) 4

9
If (g + —é-) represents a binomial distribution. Its Standard Deviation is

9
[§+é—] eTeTLIg) @ FmmINILL Leuanad GDSSme, Sigem L eflewssbd

@ 2 @z

C) 6 (D) 3

17 117/DD/23
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68. The normal distribution is a limiting form of Binomaial distribution if
erGurg @uiekBleney LiTeueTeng), FERDILIL] LITeueNer @ff erédened AIILITE GHH& @D 2
(A) nowand p—>0
n— o wppb p—>0
(B n—>0and p-gq
n—0 wpmb p—>q
(C) n—owand pon
n—o>woonhnb p—>n
M’ n — « neither p nor g is small
n— o Hmb p yb g ub @rer@id Adlu wHiem g o

69. Skewness and Kurtosis of N{u, o) are

N(/u, 0'2)661 GCamlLerey WHMID FU-eL_UIGTE|SET

@ 0,1 Ja(‘o,s

€ 02 D) 0,0

70. In a binomial distribution if the numbers of independent trials is n, then the
probability of n success 1s ,
FEROOLL ureudlld stiupp pupdlsailer aaraflisms n aafleo, n Ceupdsepssrer
Bepaay

(A) nC.p'¢"™ ®B) 1

M P’ D) q"

71. Binomial distribution applies to
FOILIYL uFedellen uweumligH@fwg

(A) Rare events
Al Hlepsfladr
ﬂepeated alternatives

Smbu Ambu peoLQumid @) Hepsdser
(C) Three events

3 flapaslser
(D) Impossible events

B Cuprg Blepsslsdr

117/DD/23 18



72.

73.

74.

75.

76.

The standard normal distribution is represented by
AL Quiaflenels Ligeuane Geusury @miLGLemb

(A) N(0,0) B) N(1,1)
(C) N(1,0) P N0

The standard error of observed sample proportion “P” is
saprLplucuc L wrfluler elldign “P” ar L rnSeny

@ 2= N \/?

© =P o £
n n

For the normal distribution
@uéleels uFeuaE®E

mean = median = mode (B) mean < median < mode

gyrefl = @eLflevew = (p&H gyrefl < @enLfleve < W&@H
(C) mean > median > mode (D) mean > median < mode

gyref > @enL_flena > & gynafl > @enfleve < 1pak

Critical region is
Sirey sl L LS eremuigy

Rejection Area (B) Acceptance Area
LDESGD UGS FHEWD UGH

(C) Probability (D) Test statistic value
Bapsaey Cangenery yemafluduwied oy

Testing H; : z =1500 against g <1500 leads to
H,: u=1500 arémm arhiCGamemd@ wrprs g <1500 erénp Cangenan

One sided left tailed test (B) One sided right tailed test
@ (pevar — @)L (penen Cargenen (1 (penai—euepenar Camgenet
(C) Two tailed test (D) All the above
@ wpenarr Gongenen CopEhss meandg b
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77. The Yate’s correction are generally made when the cell frequency is
UL 3enavldeu et @m&@n Curg gl far Hmssd LwaTLHEDg.

4 5 B) <5

&‘/‘1 D) 4

2
78.  The test statistic F = fl—z 15 used for testing

52
2
F=% crarip Cergenar yermafllblwed sjemeney g CGorgener Glewiwin
5
vweruBEmgs.
Q) H,:pu =u, G H, ot =c?
(C) H,:0,=0, D) H,:0'=0}

79. Equality of several normal population means can be tested by
ue Quaflee uewns Gsragd srrefisafler soflowamu SPlu  AeuuLLED

Cergenen
(A) Bartlet’s test Mtest
umir_Gle Gemgeaner F-Ganganer
(C)  4° test (D) t-test
1’ Gerganer t-Gangener

80. Classical probability is also known as
Spuy flepsse| (Classical probability) erérug

(A) Statistical probability (B K priori probability
yeraflilue flapssay P WHosw Hlapssa

(C) Empirical probability (D) None of the above
abufssd Hlspssey Copsaflu ageibldame
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%

®

81.

82.

83.

84.

85.

Variance of the random variable x is % , its standard deviation is
6( FweumwliLy orMuller Ureuediiy x, % erafley igerr L L eflawsad

1 1
@ S5 B =

1 1
© o M;

Large sample theory is applicable when
Quprgapm Gamurt el U LuaTLHidgeug arlCurg erafled

i’ 30 B) n<30

(C) n<100 (D) n<1000

t-distribution ranges from
t-ureuelen eiFs:

A -ote0 (B) Oto w
—0@d Qmbg 0 0 Qe Qmpe ©
—ootpoo D) Otol:
—0Qd QmbE «© 0 Qe @mbg 1

The z* test was derived by
x° Ganseaeraws s g sseui

(A) R.A. Fisher (B) Gauss
R.A. Qeegir L
Karl Pearson (D) Laplace
&ited Glwiraesr Geotieumen
In a 3 x 2 contingency table, there are cells.
3 x 2 gmiry <L euenamrulled, SU_L_BIESET D ETaTeT.
M 6 B) 4
€ 5 (D) 8
21 117/DD/23
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86.

817.

88.

89.

The critical value of the test statistic at level of significance « for a two tailed test is

denoted by
Apuiy srer LU LD a eld Gmupenen Gergenanuiler Sy sl &L

Mzah
€ 2Z

2a

Alternative hypothesis is
wabmy rHGaETET eraTLIg,

(A) Always Left Tailed
eruGurgib @)L (pener

(C) Always one Tailed
euGUrgID @i pener

B)
)

(B)

Za
Za/4

Always Right Tailed
qUGLITgID euaapenerT

One Tailed or Two Tailed
RH PEOST VDG B (peve

Five establishment are to be selected from a list of 50 establishments by systematic
random sampling. If the first number is 7, the next one is

50 Guit QenawL Himearsder @ UL gweldBhg 5 Cuer, weap srikhs wWISHH sefliy
epepuildr CaibQshias CalamBib. bweapuied g aam 7 aaller HES eram

A) 8

yn

The class interval of the continuous

(B)
(D)

16
21

ouped data is

10-19|20-29130-39|40—-49 | 50-59
10-19|20-29|30-39|40-49|50-359
crarn QAsrrESluren GeT@esLLL L ellalfhiseier

A 9
(C) 45 D)
22
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~

90.

91.

92.

93.

Percentage bar diagram has
sselis Ul el aflengsliLLbTeg)

Mata expressed in percentage

eurhiser egeigsslcr srliubHSHemmen
(B) equal width

FUO DEQLD 2 anL WLIGHe
(C) equal interval

g @enGeuefladr 2 enwieneu

(D) equal width and equal interval
g sz, 10 @eoL Qeuafl 2 el wane

Shoe size of most of the people in India is No.7 which measure of central value does

it represent?
Bidureller o drer QuepbLITTar sselen unsalsatian ey cram 7 aafle Gg eww
whiiysefier s serteneus GHUAHEDS.

(A) Mean (B} Second quartile
Fyrgf] @ITSRTLITLD STEOTETLD
(C) Eighth decile 27 Mode
GTLLmeugl Lglemprenid W&H

Median can be located graphically with the help of
QenrL_flenew sarenen Gamaumd cuanTuL SHlem ppeoh Semrddli (g U] ?

(A) Histogram J&‘ Ogives
ureud QFeieus UL LD Qe

(C) Bar diagram (D) Scatter diagram
Ul enL efleméstiuL LD fgmed afleTd&s LD

Quartile deviation is
sreowren eflessd Glap

Q, -Q
A D=-=1L.23 D=
A @ Q.10 JB(Q Q3+Q1
Q +8Q Q, +Q
c .D=—1 ] D _D:—3 1
© QD=g—7 ® QD-Z—4
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94.

95.

96.

97.

If the minimum value in a set is 9 and its range is 57, the maximum value of the set

18

@@ Csrflar Gepss wWHIL 9. igen aids 57, QgrLfer BLUGQL@Em wHULTars)

4) 33 66

(C)y 48 M 24

If, cov(x,y)=0
cov(x,y)=0 erefle

{A) xand y are correlated
x whmib ¥ &@ Qe G gLl Hiney 2 dreTg
x and y are uncorrelated
x wHmb ¥ && GenLCw gl Hpey Gdama
{C) xand y are linearly related
x, y CopisGamn_fg QariiyenLwig)
(D) None of the above
@aipdler ergyibldenen

Given the two lines of regression as 3x -4y +8=0 and 4x -3y =1, the means of x

and y are

@wm zien Qsriiy CGurnsgs CGer@aer 3x—-4y+8=0 wpmb 4x-3y=1 ek

GarRésiiuc_Hearergl. x oHHD ¥ o sl (& syrefliureng,

Mx=4,y=5 B x=3,y=4

C) x=2y=2 D) x=4/3, y=5/3

The conditional probability of B given A is
A g Qurmgs B erep flaspsflasnar flupgeanean Hlapssay

@ poa)-HEED P4 - TELD)
© P(B/A)=H§(—;)m D) P(B/A)=P(§(—jf)
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98.

99.

100.

If the expectation of a Poisson variable is 1 then P(X <1) 1s

umigrer Lgaualar erdlituriésiu@n srref wduurag 1 aafledr P(X <1)ér wdoy

wr)" ¢! (B) 1-2e

(D) None of these
@dé gguldeame

The mean of a Normal distribution is 60, its mode will be

;@ymmu ureualler syrafl = 60 crafld @Eem (WPHH g
60 (B) 40
(C) 50 D) 30

Under null hypothesis, the value of the test statistic Z is
@ e erpGaraflen &ip Congenen Yerefufwed yereneu Z ar iy

t— S.E@) t+ E(t)
D ® SE0
t— E(t) PQ
S.E(t) ®) n
25
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